

Class – X

Subject – Science
General Instructions:

1. The question paper comprises of two sections, A and B. You are to attempt both the sections.

2. There is no overall choice. However, internal choice has been provided in some questions. You are to attempt only one option in such questions.

3. Question numbers 1 – 6 in section A and 17 – 19 in Section B are very short answer questions and carry 1 mark each. These are to be answered in one word or one sentence.

4. Question number 7 – 10 in Section A and 20-24 in Section B are also short answer questions and carry 2 marks each. These are to be answered in 30 – 40 words each.

5. Questions numbers 11-14in Section A and 25-26 in Section B are also short answer questions and carry 3 marks each. These are to be answered in 40 – 50 words each.

6. Question numbers 15-16 in Section A and 27 in Section B are long answer questions and carry 5 marks each. These are to be answered in 70 – 100 words each.

SECTION-A
1. What is virtual focus?
2. A student placed a china dish containing 2 g of silver chloride in sunlight for sometime (i) What is the colour change that she would notice? (ii) Give reason for this colour change.

3. Why don’t two magnetic lines of force intersect each other?

4. A metal M acquires a green colour coating on its surface on exposure to air. Identify the metal M and name the process responsible for this change.

5. An electron enters a magnetic field at right angle, what will be the direction of the force acting on the electron?
6. Helium is an unreactive gas and Neon is a gas of extremely low reactivity. What if anything do their atoms have in common?

7. A straight copper conductor, whose ends are connected to a sensitive galvanometer, is moved up and down in a strong field. (a) State your observations. (b) What kind of energy transformations takes place in the above experiment?

8. What were the criteria used by Mendeeleev in creating his periodic table? List three important limitations of Mendeleev’s classification.
9. What happens when aqueous solutions of sodium sulphate and barium chloride are mixed together? Write your observations along with the chemical equations.

10. What is the relation between charge and current? How much work is done in moving a charge of 2
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c across two points having a potential difference of 12 V?

11. An element A has 4 electrons in the outermost shell of its atom and combines with another element B having 7 electrons in the outermost shell of its atom. The compound formed does not conduct electricity. What is the nature of the chemical bond in the compound? Give the electron dot structure of its molecule.
12. What is electromagnetic induction? Write one difference between direct current and alternating current.
13. What were the criteria used by Mendeeleev in creating his periodic table? List three important limitations of Mendeleev’s classification?

14. An object of height 2 cm is placed at a distance of 15cm in front of a concave lens of power – 10D. Find the size of the image.
15. Give reasons. a) Metals are regarded as electropositive elements. b) Articles of Aluminium do not corrode though it is an active metal. c) Gold is found in free state while iron in combined state. d) Sodium hydroxide can’t be kept in aluminium container. e) No H2 gas is evolved when metal reacts with dilute nitric acid.

16. Two bulbs of 100 W and 25 W are connected in series to 200 V-AC mains. Which bulb glows brightly? Explain your observation. (ii) Why does the element of a room heater becomes red hot but the lead wires remain cold. (iii) An electric bulb gives bright light when connected to 12 V DC source. Will it glow if connected to 12 V AC source? (iv) Several electric bulbs designed to be used on a 220 V electric supply line, are rated 10 W. How many lamps can be connected in parallel with each other across the two wires of 220 V line if the maximum allowable current is 5A.

SECTION- B
17. Where is protein digesting enzyme pepsin released and how is it not able to act on stomach wall?

18. Give any two sources of variation in asexually reproducing organism.

19. How does the disappearance of all the fungi and bacteria affect the fish population in an aquatic ecosystem?

20. A potato plant synthesise the food in the form of glucose and stores in form of starch. How this glucose reach to storing parts and in which form?

21. The genotype of white seed coat gram is BB and yellow seed coat gram is bb. When these two are crossed. (i) What colour of seed coat would you expect in their F1 progeny? (ii) Give the percentage of yellow seed coat plant if F1 plants are self pollinated. (iii) In what ratio would you fine the genotype of BB and Bb in the F2 progeny?
22. Name the excellent fuel and what is the percentage of Methane in it? State its use. Name the type of microorganism involved in producing this gas.

23. Define germination and make labeled sketch showing the structure of a gram seed.

24. Which part of the brain maintains posture and equilibrium of the body? How does phototropism occur in plants?
25. Write one feature which is common to each of the following pair of term/ organs. (i) Ovary / Testes (ii) Arteries / Phloem (iii) Egg yolk / cotyledon (iv) Fission / vegetative propogation (v) Vas deferens / fallopian tube.

26. Quote three instances where human intervention saved the forests from destruction.
27. Describe surgical methods of birth control. “It is matter of chance whether a couple will give birth to a boy or a girl.” Justify the statement.
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